SEAVIEW/

ELEVATE YOUR ELECTRONICS

INSTALLATION
INSTRUCTIONS

For Seaview Rail Pods:
SP2s1, SP3S1, SP551

date instructions and videos.




PARTS INCLUDED

2Y)
(@)
M6 x 1 Xx15mm

2o Marine Sealant is
recommended. To
.| purchase call 800-655-7922

19mm / 3/4"

20 TPI



17

use a hole saw to drill a hole
in your rail to pass the cables
through.

Use the appropriate
grommet for your
application, and place it on
the rail. Be sure to align the
opening in the grommet
with the hole.

Install the stainless steel
clamp assembly as shown.




4

S5

6

Secure the clamp with the
six M6x1x15mm bolts.

Insert the large bolt and
rubber ring into the housing
as shown.

M6 x 1 x15mm

@ @

Insert the second rubber ring onto the large bolt. Apply Loctite
to the threads as shown.




Place the instrument
7 template onto the lid.

Trace the template with a pen. /

Remove the template from A
the lid. y T

Drill the mounting
holes for your
instrument. Follow

the manufacturers
instructions for this.



Take a saw and cut the
line that you marked
in step #8.

Install the instrument
1 z and cables.

Install the rubber gasket and lid assembly on to housing. Note:
1 3 rubber gasket should already be applied to the front face plate.

Rear housing

Rubber gasket

Front face plate

Rubber gasket

Make sure the
“flaps” of the
rubber gasket are
pulled over outter
edge of both pod

housings.
Front face plate



14

Secure housing assembly with the M4 x 0.7 x20mm and
washers.

LeJ 5 e

M4 x 0.7 x20mm



SEAVIEW/

ELEVATE YOUR ELECTRONICS

SEAVIEW/ EUROPEAN OFFICE

Tel: 800-655-7922 Tel: +334 94 53 27 70
www.seaviewglobal.com WwWWw.seaviewprogress.com

2-092418



